The detailed information All 120 deadlocks of Fig. 8 Based on The Famous Software “TINA [31]”

Order Deadlocks
1 M1 = 2p1i+ 4p1at 2p1gt Prot Pot 2pst 6pst Pet 2p7
2 My = P11+3p1at Pret 2P1g+P1gtPa+2Pst7PstPet2py
3 Mz = p1+P11+2P1a+P16tPi7+2 PrgtPaot 2Pt 7PstPet 2p7
4 M= p1+p1st 3P1atPist2 PrstPiot 2Pst BPs+Pet 2p7+Ps
5 Ms = p1+ 2p11+4 Pugt 2P1g+Pigt 2Pt SPstPet2 PrtPs
6 Mg = P1+P11+P12+3P1atPist 2P1s+Pagt 2Ps+ BPs+pet 2p7
7 M7 = p1+2 purt Piot 4pist 2P1gtPaot 2Pst Spst Pet 2p7
8 Mg = 3p1+p1at 2P1atPistPirt 2P1s+Paot 224t 7PstPet 2p7
9 Mg = p1+past+ 3P14t+Piet 2P1gtPrgtPatPst 6Ps+Pet 2Pp7+Po
10 Mio = 2p1+P11+ 2p1atPistPirt 2P1s+ProtPst 6PstPst 2p7+Pg
11 Mi1 =2p1+p1rt 2P1a+Past P17t 2P1g+PaotPastPst 7Ps+Pet2p,
12 Miz = 2p1+p1st 3P1atPiet 2P1g+ProtPat SPstPet2pr+PstPo
13 Mig =2p1+ 2p11+ 4P1at 2P1gt Prot+Pat 4Pst+Pst 2p7+Pstpo
14 Mig =2P1+P11+P1ot 3P1atPist 2P1gtProtPat SPst+Pst 2p7+Po
15 Mis = 2p1+ 2P11+Piat 4P1at2P1g+ProtPst 4PstPet2prtPe
16 Mie =3p1+P11t 2P1a+P1s+Part 2P1s*+P1otPaat BPstPst 2p7+Pg
17 Mi7 = 2p1+P1a+ 3piatPiet 2PigtPiotPat SPst+Pet 2p7t+ 2pg
18 Mig =3p1+P11t 2P1a+P1e+Part 2P1s*+P19+5Ps+Pst2Prt 2Py
19 Mig = 3p1+P11+ 3p1atPiet 2P1gtPiot 4pst Pet2prtPst 2Pg
20 Mao = 3p1+ 2p1s+ 4p1at 2p1gt Prot 3PstPet 2P7+Pst 2Pg
21 Myy = 3p1+puat Prot 3P1atPiet 2P1gtProt 4Ps+Pst2Prt 2Py
22 My, = 3p1+ 2p1s+ Prot 4P1at 2P1gtPigt 3Ps+ Pet 2p7+ 2Pg
23 Mgz =2p1+ 2pP11+4P14+2P18+P19+Po+ 4Ps+Ps+2p7+ 29
24 Maq = 3p1+ 2p1s+ 3P1atPirt2PistPiot 4Ps+Pet 2p7t 2pg
25 Mas = p1+ 2p11+4pist 2P1gtPagt P2+Pat SPs+Pst2p+Pg
26 Mag = 1+ 2p11t+ 3P1atPart 2Pigt Prot 2P3t 6ps+Pst 2p7
27 Ma7 =3p1+2p11+ 3P1atPart 2P1gtPigt 2Past 6Pst Pet2py
28 Mag = 2P+ 2P11+ 3p14+P17t 2P1g*+Prgt Pat SPst Pt 2p7+Po
29 Mag = 2P+ 2P11+3P1a+P17+ 2P1g+ProtP2atPat 6Pst+pet 2p7
30 Mg = 3p1t+ 2P1s+ 3p1at+Pirt 2P1g+PrgtPast SPstPet 2p7+Po
31 Ma1 = 3p1t+ 2P1st Prot 4P1at 2P1g+PiotPast 4PstPet 2p7+Pg
32 Msz =3p1+2p11+P1o+ 4p1at 2Pigt Prgt 2P24t SPstPet 2p7
33 Mss = 2p1+ 2P11+Piot 4P1at 2P1g+PrgtPastPst SPstPet 2p7
34 Mag = 2p1+P11+P12+3 PratPist 2P1s+ Prot PaatPat 6Ps+Pst2py
35 Mss = P1+P11+P1st 4p1a+PietPigtPiotPot P3+5Pst+Pet 2p7+Pg
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Msg = 3P1+P11+P13+3P1a+P16+P17+P1s+ProtPast SPst Pet 2p7+Pg
Ms7 = 3p1+ P11+P13+3P1atPistPart PrgtPiot 2P2at 6Pst+pet 2p7
Mag = 2p1+P11+P1gt 4P1at+PistPistPiotPat4ps +Pet2p7+2pg
Mag = 3p1+P11+Pigt 3P1atPistPrrtPistPiet 4PstPet2prt 2Pg
Myo = 3p1+P11+Pist 4P1atPistPistPiot 3Pst+Pet 2p7+Pst 2Pg
M1 = 3p1+ 2P11+Past SP1a+PigtProt 2Ps+Pet 257+ Pst 2Pg

My = 3p1t Pu +P1ot Prst 4pust Piet Pist Prot 3pst Pet 2P7+2Pg
Mgz = 3p1+ 2P11+P1otPist SPiatPistPio +2Pst+Pet 2p7+2pg

My = 2p1t+ 2P15+Pagt SP1atPastProtPat3PstPet2pr +2pg

Mys = P11+Past 4P1at+PietPistPiot P2+2pst 6ps+Pst2p;

Myg = P1t+ 2P11+P13+ SP1atPigtPiotPatPst 4Pst Pet2pr+ Po
Mgz = 2p1+ 2p11+Pigt 4p1atPirtPistPiotPa+4pstPst 2p7+Pg
Myg = 2p1+2 P11 +P13+4P14t+P17+PigtProtPastPst SPst+Pst2py
My = 2p1+ 2P11+P1gt SP1atPrgtProtPat3PstPet2pr+PstPo
Mso = 2p1+ 2P11+P1otPist SPiatPistPiotPst 3Ps+Pst 2p7+Ps
Ms; =3p1+ 2p11+P1s+4P1a+PirtPistPiotPast 4Ps+Pet+2P7+Pg
Ms, = 3p1+2p11+P1s+4P1a+P17tPistPiot 2P24t SPstPet 2p7

Msz =3p1+ 2p11+Pist 4P1a+Pir+Pist+Piot 3PstPet2Prt 2Pg

Msg = 3p1+2pP11+P12+P13+OP1atPigtProtPaat3PstPs +2P7+Pg
Mss = 2P11+P1a+ SP1atPigtPiotPot 2Ps+5pstpet 2p7

Msg = 3p1+ 2P11+P1otPist SPiatPistProt2Past 4pstpPs +2p7
Ms7 = 2p1+2p11+ P1otP13tOP1atPistProtPastPat 4Ps+Pet2 Py
Msg = P1+2P11+P1gt 4p1atPiz+PistPiot2Pst Spstpet2py

Msg = P1+2P11+P13+5P14+P1st+P19+2Pa+4Ps+Pet2 Pr+Ps

Mgo = P1+2P11+ P1o+P1st SP1atPigtPiot2 Pst+ 4Pst+Pet 2py

Mgy = P1+pPurt P1st3piatPietPirtPistPiot2Pst 6Pstpst 2p7
Mgz = P1t P1utPast 4P1atPietPigtProt 2Pst SPstPet 2p7+Ps
Mgs = 2p1+P11+P13+3P1at PrstPrr+PigtProtPat SPstPst2prt+pg
Mgs = 2P1+P11+P1at 3P1atPistPiztPistPiotPaatPs +6Ps+Pet2p,
Mes = 2P1+P11+P1s+4P1atPistPiatPiotPat 4PstPst2p7+Psto
Mgs = 2p1st 2P16+2P15+P1g+P2t 2P3+8Pstps +2p7

Mgz = 3p1+P1at 2P1stPirt 2P1stPiot2P2gt Bpstpst 2p7

Mgg = P1+2P14+ 2P1st 2P1g+PrgtPotPat 7Pst+Pet2ps+pg

Mg = 2p1+P1at 2P1stPirt 2P1gtProtPat 7Pst+Pet2Pr+po

Mzo = 2p1+P1at 2P1stPirt 2P1stProtPast Pst8pstpet 2p7

M71 = 2p1+2p1st 2D16+ 2Pagt ProtPat 6pstPet 2p7+ PstPo

M7z = 3p1+P1at 2pistPirt 2PagtProtPast TPstPet 2P+ Po

Myz =2p1+ 2p1st 2P16+2P1g+P1ot P2+6Pst Pt 2p7+2Pg
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Mzg = 3p1+P1at 2P1gt P17t 2P1gtPigtOPst+Pet 2p7t 2pg

Mys = 3p1+ 2p1at 2pigt 2P1gtPaiotOPstPet 2p7+Pst 2Py

Mz = P1tpust 2P1gtPart 2P1gtPaot 2Pst 8Pstpet2py

My7 = pit+ 2p1at 2P16+2P1gtPagt 2Pst+ 7Pst+Pet2p7+Ps

Myg =3p1+P11+ Prot 3P1atPast 2P1g+Piot+2P24+6pPstPet2py
Mzg = 3p1+P11+P1ot 3P1atPist2P1s+ProtPast SPstPet2Pr+Po
Mgo = P1st+ 3P1at 2P16+P1g+ProtPat2Pst7 Pstpet 2p7

Mg = 3p1+P13+2p1s+ 2P16+P17+P1stP1ot 2Past 7Ps+Pst2P7
Mgz = P1+P1st 3P1at 2P1gtPigt ProtPatPat 6Ps+Pst2pr+po
Mgz = 2p1+P1a+ 2P1at 2P1st P17tPigtPiotPst 6Ps+Pst 2p7+pg
Mgg = 2P1+P13+2P14+2P16+P17+P1gtProtPastPst7PstPet 2p7
Mgs = 2p1+ P13t 3P1at 2P1s+PigtPiotPst SPs+Pst2pr+pst Po
Mgg = 3P1+P13+2 P1at 2P16+P17+P1stProtP2at OPs+Pet2P7t Po
Mgz =2p1+P13+3P1at 2P16+PigtPiotPat SPs +Pst2p7+ 2Py
Mgg = 3P1+P13+2pP14+2P16+P17+P1gtP1ot SPst Pet2P7+ 2Py
Mgg = 3p1+P13+ 3p1a+2PistPistPiot4PstPet2prtPst2pg

Mgo = P1+P13+2P1at 2P1gtPart PrgtPiot 2Pst 7Pst+Pet2py
Mo = P1+P1st 3P14+2P16tPigtPiot 2Ps+ 6Pst+Pet 2P7+Ps
Mgz = P1+P11+P1o+P1a+4PiatPietPist P1ot2P3tSPst Pet2py
Mgs = 2p11t+ 2P13+6P14+ Prot Pot 2Ps+4pstPst2pr

Mos = p1t 2p1t 2P1gt 6P14+P1gtP2+P3+3PstPet 2p7+Pg

Mgs = 2p1+ 2P11+2P13+ 6p1s+P1o+Pat2Pstpet 2p7+Pst Po
Mo =2p1+2p11+P1o+2P13+ 6P1atP19tPat 2Ps+Pet2Prt Po
Mgz = 2p1 +2P11+ 2P13+6P14+P1gt P2+2PstPet2pr+2pg

Mgg = 3p1+ 2p11+2D13+6P14+P1gtPst Pet 2 Pr+Pat2Pg

Mgg = 3p1+2 P11+P12 +2P13+6 PratPigt PstPet2 Pr+2Pg

Mugo =3P1+2p11+P12+2P15+ 6P1stP19+Past 2Pst Pe +2P7+Pg
Mio1 = 3p1+2p11+P12+2P13+ 6P1atPigt 2P24+3Ps+Pet 2p7
Muoz =2p1+ 2p11+P1ot 2P1s+6P1atPiotPostPst 3Ppstpet2py
Mgz = P1t+ 211t 2P13+6p1stPiot 2Ps+3pstpet 2p7+Ps

Migq = P1+2P11+P12+2P13+ 6P14+P19t 2P3+3Pst+Pst2py

Migs = Purt+ 213t SP14t+P16tProtPat2PstOpst Pet 2p7

Migs = P1+P11+2P13+5P14+P16+P19+P2+P3t4PsT Pet 2P7+ Po
M7 = 2Pyt Put 2Past Spust Pist ProtPat3PstPet2ps+pst Po
Miog =2P1+P11+P12+2P13+5P1a+P16+P1o+P3t+3Pst Pet+2p7+Pg
Muge = 2p1+P11+ 2P1gt SP1atPistProtPat 3Pst Pet2pr+2pg
Muo = 3p1+P11+2P15+ SP1stPietPiot 2Ps+Pet2Ppr+Pst 2Pg
Mi11 =3p1+P11tP12+2P13+5p1at PretPist 2PsHPet 2P+ 2Py
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Mi1p = 3p1+P1atPiot 2P13tOP1atPistPiotPast3PstPst2prtPe

Mi13 = 3P1+P1a+P12+2P1s+9P1atPistPiot2P2a+4pstPet 2p7

Mi1q = 2p1+ PratProt 2Piat SPiatPist Prot PoatPataPst+pet2py
Muis = P1+P11+2P13+9P1atPistProt 2Ps+4pstPst 2p7+Ps

Misg = P1+P11+P12+2P13t5P1atPiet Pro+2Pst 4pstpet 2p7

Mu17 = 3p1+Pust Prot P1at4Piat Pis +P1s +P1ot 2P2s +5Ps +Ps +2p7
Mg =3 P1+P1a+PiotPiat4PiatPistPistPiotPastdPstPet 2p7+Pg
Mu1o =2p1+ Puat P1otPist 4P1atPietPistProtPst 4pstPet2p7 +Pg

M1z =2p1+P11+Piot Pra+4Piat P1etPistProtPastPst SPs+Pst 2p7




